Table S1

Distribution of radioactivity ( % of dose )
0.5h 2h 8h 24 h
Cerebrum 0.00 £0.00 0.00=*=0.00 0.00 = 0.00 N.D.

Tissue

Pituitary gland 0.00 = 0.00 N.D N.D N.D
" Eyebals  0.00%000 000000 000*000 000000
“Submaxillary gland 0.0 + 0,00 0.00 = 0.00 000 £ 0.00 0.00 + 0.00
 Thyod 000 +000 ND. ND. ND.
© Thymuss  000%000 000000 000*000 000000
""" Heat 000000 0.00%000 000%000  ND.
g 002 +001 001%000 000000 000*000
© lver  1677+199 103+069 010+003 003+ 001
 Adenal 000000 000%000 000000 000000
© kidney  035%003 021001 007+002 003001
" spleen 0.00 + 000 0.00 %000 000000 000 %000
" Pancreas 001001 000000 000000 000000
" Prosate  0.00%000 000000 000*000 000000
T hesis 002 000 001%000 000000 000*000
~ Epddyms  0.01+001 000%000 000000 000000
*Seminalvesie 0,00 + 001  0.00 +0.00 000 %000 ND.
 Bladder  000%000 000000 000*000 000000
 soomach  015+020 000%000 000000 000000
Smallintestne 444 + 202 124+ 0.68 006 =003 0.00 * 0.01
©Ceeum  001%000 000000 007*00l 000001

Large intestine 0.01 = 0.00 0.00 £ 0.01 0.14 = 0.07 0.00 = 0.01

Each value represents the mean = S.D.of three animals
N.D.: Not detected



